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\. An operation maps P(x, ) onto P (x + y, 2y — x). Find the equation of the locus of P' as P
moves along (i) the x-axis, (if) the line y = x, (iii) the line y=-x, (N80/P1/10)

2. Find the equation of the straight line having a gradient of —7 and passing through the point

(tz 2t) This line meets the line 2y +x = 4 + 22 in the point P. Show that the y-coordinate

of P is ¢+ 2. Find the x- coordmate of P and determme the equatlon of the locus of P as ¢ var- j
ies. (IN80/P2/15)

%. (@) 4, Band P are the points (3, 2), (6, 4) and (x,y) respectively. Given that the ZAPB is a *
right angle find the equation of the locus of P ‘

(b) Fmd the cartesian equation of the curve which are defined parmnetncally by‘
=t(t-1), y=1+1 (N81/P1/16)

& An operation maps P(x, ) onto P' (x —y, 2y). Find the equation of the locus of P as P moves:

on the line y = 2x. (N83/P2/10b) |

S. (a) Find the cartesian equation of the curve which is defined parametrically by x =7 -3,
y=t ~5¢. |
(b) Find the equation of the line of gradient m that passes through the pomt (m, m). Given ;

that this line crosses the x-axis at 4 and the y-axis at B, find the equation of the locus of
M, the midpoint of 4B, as m varies. (J84/P2/16) :

The line y = px meets the line y = x + p at Q. Find the equation of the locus of Q as p vanes »
N 84/P2/16a) L ._3

% Find the cartesian equation of the curve which is defined parametncally by x = ft — 1),
y =1+t (Sp2/6bi)

B+ (a) The line Py =x + p meets the line y = px at Q Find (i) the equation of the locus of Q s,

p varies, (ii) the co-ordinates of the points where this locus meets the y-axis.

(b)  Given that 4 is the point (0, 3) and B is the point (0, -3), a pomt P(x, y) moves so th

- P4 =2 PB. Show that the equation of the locus of P is x? +y? + 10y +9
(J85/P1/16)

Q. A line through the point (1, 0) meets the variable line y = tx at right angles at the pomt
Find, in terms of £, the co-ordinates of P. Show that the equation of the locus of P as ¢ varies.
isx?+y?=x. (N85/P1/16a)

{O. (a) The cartesian equation of a curve isy(y — 2) = x. Given that x is deﬁned parametri :
byx=¢2 — 1 and thaty = 4 when t =3, express y in terms of . '

6

.

(b)  The parametrie equations of a curve arex =£ —1,y=1> +¢. Express § in terms of / l‘

the simplest possible form. Hence or othermse find the Carteman equation of il
curve. (J86/P2/8b) : ’
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@ x+y=0
(i) y=x
(i) x=0

+x=3820 -2t x=27~ 10y +12
» (a) F¥+y —-9x—6y+26=0

(b) y*=x+3y-2

y=—4x

(@ y=G+3)x-2)

by y-mx=m-m’y=—xQ2x+1)
y=x(y—x) :
x=y'=3y+2

@ @O x=y-y
(@) (0,0),(0,1)

A

@ y=t+l _
) F=1-1) =x+3xy+2




